o lall dugiladl dual gl polosi] & aldme jbueno!
Q.il.“.ll g9l = Yo AV/Ye VT gl yall plall
(aapalaidl dalili) dus! sill ddaiddlg guad! : Ba !

r g b
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daia (YA) duil Sl cilaiaa aas
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i (YA ) il Sl il a5 Tagel ookl augilill dal yall olod! abomis hdno! Chutnd | g | oy
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e | i e el 5l g E (Gl Gl s il s aially yul - §ald!
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10,02 . | sl o (0 @ 1) S 18
o If 1,w,w” are the cubic roots of one,then e C""‘A‘ o ol LS
14+ w + wz + (1)3 + -4 a)loo
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Yov/Yen w‘)ﬂ‘?ml—ulml)}.dl

o Answer one of the following items

a- If the two straight lines:
Li:t=(23,-4)+k(23,a)
L.: xXx-5 _y+4 z—4

2 p T 6 2

are parallel , find the value of each of aand b ’ 1

b- Prove that the two straight lines :

Li:7=(1,24) + k, (4,-2,2)
Lz: x=1-— 6k2
yy = 1 + 21k2

,Z =1+ 33k, are perpendicular.

o ¥ 4200 Al | pal | At [ - dalall 4 g3l a1 aled 3algds (ylcial
4) g Jnd g Ll plea!

RO PV (JENC A Ve
G

Slasiiaadl O 13) -

() +(e- )= n o J

SR L

Y

wo P e IS 4 aomsl oy ) g0

: psesditacad) O il -0
(=) JH(EN A)=0m 0 d
¢ vi}\'\‘l'\:ua ¢ Yis.\-\=u—::rd

(-

Oldalaze (F¥Y A+ =¢
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YAV/TNT gty plall - AL gl (o ¥ 0003 Bl |yl gy ot — alad) 2 30 2yl a3 Bl (lonial
OIfA=ZZ+3f—k,B=4?—j, UL & P SR (|
then 4 B equals ......... g
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The measure of the angle between the two Slalas) el g 1S 13)
straight lines whose direction cosines are G T Y ) (B e
¥y v
2 Tt 1 1 LM WEoL v
(3 '3 ,3) and (ﬁ ' ,0) equals ......... - = OE( c“ﬁ‘ﬂ)
............... Gold eandiiad! po

@ 60° b 30 v @ 1 (D)
© 90 @ 120° vy ) e @
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o Find the equation of the plane parallel to the S9! (6 el Aslae s o
plane 2x + y — 4z = 0 and lies at a distance T LR R U A RUE WS

" 510

v/21 length unit from the point (1,2,0) Jsbbaoy i b s - S

( DI e ) M\ uA
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YOV gl pdl alall - L1 ygud (Ao W1 2300) 2l daunkighl gyt | — dalad) gt 2yt AL Bl (lial
Solve the following matrix equation: 1AV ddsaadl dsladl J

1 O 2 X 5 0 o Y . \
0 .1, 1 <y) = (1 U I ™ \- \ .
1 1 0 Z 7 \% 5 . \ \
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o If Z =2+ 2v/3i, then the exponential STy =E O 1)
form of Z 1s &b a3l

T Te - T o T
@  ge ®  4e5 =Y ag @, Y
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If X2 +y2+22+4x—6y+8z+4=0 is |~ ot +'s + 0ot ool 1)

the equation of a sphere, then the length i

of its diameter equals ............. length 5,50 Jj” Jsb S 8,5 olae 0
it g B i, 63\.«0
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o If direction angle of a vector are
(45o 45° 90) , then one of the values of
6 equals .......

@ 45° ® 90° °3.

ub( 0 (%o ‘°£0)¢;.3\§\5\9
] 318 4t sl Ly
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@ Answer one of the following items: ROeTL R GV (JERES RSPy
a- Find the solution set of the equation : Ul Jo- e geres “\?\ -
Z*® = —8i in the trigonometric form. AN gl A= &
(ot =g o810
1 ; & .
b-If Z = o (1 + i), find the square roots )y X i
s . . 8 &) “peno I | |
of Z in the trigonometric form. <3 2 (ol s
FRTREIPA
13
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@Ifnc6: nC5=1:3,then|n—3 Vil= OUU:_‘UU O\i\-’i
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(2 o 1 210L3) Ayl Aawnkiglly o - ool s il a0 AL Bl yloie!

@ The middle term in the expansion of

1
(2x +55)" equals

@ 12C6 x~6

........

sj&gbﬁ\u\
VY v\v“’“v)
.................. 6)\.“.3
10’”1va @
-‘U"' -\U\Y @
Dwv \Y @

. \ @
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dabad)l Capatie dlads LS|

@ The coordinates of the midpoint of the line-

segment whose terminals

(324), (52.8)iS oo [ e Lo (AT o)
@ (2,24 RARSENQ
® G5 (20) @
© i ESRCINC
@  (4.2.6) Al @

v/ U.JLIJI JoaJl - d=salpoldalinl) ad A uj
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TAV/T0 Gl oLl L1 (A5l BALIL) 0 Ay i) - kel gl 23 Bl o

. 11 Woy LY e
@ Prove that the expansion of (xz + iz) (? o) S ol e
X
does not included a term free of X . o (f G e e g g Y
18
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Find the area of the parallelogram in which @MJ}’\ S g dlie e
A and B are two adjacent sides such that: | 01, s\t Olabo 5 ad g
A =(3,6,3), B =(-6,-2,-4). (- )= T r ) = e

19
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From the numbers 1, 2, 3, 4, and 5. 134s V'{ 0 £ ¥ (Y ¢\ r\.’e’ﬁ'\ o
How many even numbers greater than 300 A 83 e ¥ e S T lag )
can be formed from these numbers with NN e T\Bﬂ‘ R
replacement?

@ 30 ® 250 v @ v O
© 11 @ 1530 v 0w
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@ If Z = v/2(sin30° + i cos30°) ,then the o8 13,
principle argument (amplitude) of the Y=ot or )Y\ =¢
number Z equals ............ £ 3l G Y Al b

.................. $o\lus

21

v/ U.JLIJI JoaJl - d=alpoldalinl) ad A uj



VWSO | alat - gilidljelt| (A ks ¥ 2L ) Byl il g pnd | — Zenlnd) eyl 1 AL Bl el

® The direction cosines of asel) sl YI Ll g ) ol s
the vector [T =(-2,1,2)are ........ | e 2 (Y\e¥-)= T

@ (-2,1,2) (Yedev-) @
® (33 Tt @

3’3’3
© (2.9 G ©

@  CLLD Ghaa-) G
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Without expanding the determinant ,
Prove that :

3x 3x 3x
1 b a | = zero
a+b a+1 b+1

jc,.;;ia.\;wj\é\égj.u_

AN A NS Al
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